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Wi i fhe XOR proklem esceptionsdly inleresting neutal nelwork rescarchers?
A1 Decause it can he expressed o a way sl allows vou 1 use o neweai networs
[y Decanse it is comples binaey operation thut viunat be sobved using tearal neswarks
1 Becavss it can he selved by a single layer perceplien
[} Because it s the simplest lincarly insepurable problom that exists,

The macking independent phiases of the compiler:
A} Syntax Analysis
T Lexical Analvsis
1 Intermediate ende genecation
[ All of the abowe

Wiers is the minimun criteriz used in fugzy Iogic

Al In ANLY aperation B1in OR cperation
L0 I Dhe=Marsan®s Thoonem 137 Mo of above
The triots walues of traditicnal sot theory is ared that at fiveey selis

A) Either Gor | between 1 &1
B Berween § & 1. either Bar |
3 Berwoon 01 e |, hetwesn 008
M Cither O or 1, cither 7 or |
A sofpware that uses mathematicnl functions w simulate an evalutionsry provess 3 Knawn 4s
Al Meumm| Metworl B ey Logic

C1 Intefligent Agent 11 Genetic Algarithm

Ta reduce compulation i ene wlilizes non-overlapping regiong in image provessing, it insnally

produccs elTect.
Al THmming 43 Blurred
(71 Blocly 131 Mone of the mentianed

[Estagram cqualizalion makes image intensily changes
A Lo B) High
Cy Visible D Invisible

R i ceder toastain the inage in abive Tigure on the vighl fmom the arigingl imuge in Figire en

lett, tha follewing operation ghould be applicd;
Ad Uimbrast cottipression 43 brnage Inversien
071 Histoeram equalizetion [ Cateaction of the most significant hits
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For ling detection we use mask that is
A} Gaussian H} Laplacian C) Ldeal [} Bullerworth

- Morphological closing operation is represented by

A) A B PA-B ChA-B DyAaxB

L. Huez and saturation, both together produce

Al Brightness ) Transitivity ) Chromaticity 1] Hellectiveily

You wish to install a hardware device that is not Plug and Play. Which of the following is
commonly the first instruction given in User Munual w install this deviee?

A} Install the dreiver B Tnstall the devics

L Ty the power off [ Disconpect the moniter

- Which nf the fallowing would best tit the following description - sefiware is copicd and given

Liv i friend without the permission of the copyright owner?
A1 Fresware H) Piragy L Sharcware 11 Public domain

A program s wWritten to bun ond/oft & swicch. The switch is switched off once the temperatures
labts belowy 16 and then it i twned on when the temperature is more than 25 To test this
program, identify the Equivalenss values whish belong o the same class.

A) 1622 B) 242717 Cr26.27.28 I3 14,1519

. Matzh the following;

a) IPv4 Address {i} Size is 16-hit
bl TPvh Address (i} Size is $8-bit
ol MAC Address (i) Siee is 32-bit
d) Porl Mumber 1) Size s 128-bit

A} aliv) R el (i) d)-(iin) B} aj=(ivh By-(ip 2)- (i dp-4in)
Cyain h)=G) o ) D D ayiiiy B-(ivh ok (i) dj(ip
Mutch the followine:
Ay FTP (i} Peotoec] for sending cleetronic muil on Lhe Internet,
B TELXET (i) Unique address of any weh resource
) URL (iti) Protocol o exchange file hetween Lwo computers
[y SMTP (iv) Pratacal thar allow user on ane compuler @ log into ancther compuler
Ay ap{iv) BR(1) o= (i) d)-(iin) By al(ivy D=3y ¢l (iii} d}-{ii_fl
) ay-iin b=y o= {ivi d)-(i) D) a)-(iil) bi(iv) o) i) d)-is)

7, In arder lo enhance performanes of the computer, Disk delragmenter

A) Consclidates parts of tiles lving at difTerent lecations on computer’s hard disk
B} Delercs temporary files related 1o Intermnet

) Delotes temporary files related 1o backup

0 All of the ahowve

Which of the following aptical transducer is an aclive tansducer?

A Photo cmissive cell 33 Fhoto disde
) Phaoto fransistor [y Phode voltaic coll
Tunction poinrs provide an objective measure of the application SYSIem —e—m-- that cun be

used o gompare different kinds of application systems.

A) Size B Complexity C) Performance D} Operation ease

(2}



20, The anisc at the input o an ideal trequency detecior is white. The detector is eperating ghove
threshold. The power spectral density of the noise ot the oarput is

A) Raised-cosine B Flat C1 Pakabolis L) Gaussian
21. A method of ensuring electrenic document mtegrily
Al Firewall B) 55l C) Anthenticulion 0¥ Digital Sigmulures
23, Crder the following hst by thelr asymprotie growth (fastest 1o slowest)
i) m (i) o {iii} logn {ivy n! {v) o lopn
A} idl we | =¥ = v —1ii B8 - | — ¥ - IV -
) fieeimy=ii—iv (5 B 1T RER e SR T
23, Which of the following tag in TITML is wsed to sdd o row tea bl
M) de B <row ) =tuple= B
24, With SOL, how can vou insert "PHD" a5 the "Course” in the "Students" Luble assuming cther

vilues o be WLUILLY
A THSERT ('Phd'y 15 10 Students {Conrse)
Hi TNSERT INTO Studenis (Course) VALUES ['PhLY)
O INSERT INTO Smidents (Caourse) 'ThD
1% INSERT INTO Students {'PhD') TNTO Course

25 | ook at this series: 7, 10, 8 11,912, . Whar sumher should corme nest?
Ay T B0 [ZJIE Y13

26, ‘I nree unbiased coins are tossed. What s the probability of getting at most twa heads?
A) 34 IRE Crag 78

[
-l

. Mormal dismribution theory tells us that for large samples, %5% of sample means lie within how
many standard deviations above and below the population mean?
A) 190 B The gquare roed of the sample s
) Equal to 7-seone D) e

28, Which of the following features will chamcterize at 0% as multiprogeammed (k)
(4] Muore than one program may be loaded inth muin memory at the same tme.
(b} T a program waits for eertain event another program is immediately

scheduled.
fc) If the execulich of a program lerminales, another program is immediately
scheduled.
A fa vl Db a1 and (hy ool
) {adand () only ¥ AL (a), (b} and ()
29 What one of the following is the compenent of an ER model?
A) Entities B} Relationships C1 Artrihutes D) Al ol thes:
1, How citn vou make an c-mail link in ITTMLY
A} =mail>pulEpu.ac.in<mail= H) <a href ="maillo:puidpe.ac.in™>
(1) =a href="puig pu.ac.in"= T2y =gpniad | huref="puiiipu.aciin =

3. "Cloud” in cloud computing represents what?
A1 Wireless B Hard drives ) People ¥ lnternel

(=)
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. The web browser's keeps a list of weh pages that a user visited during certoin

time period.
A) History B} Cache () Favorites D) Bookmark

{. Bela testing of a software product is done by

A) eveloper I User C) Tester ) Business Anidyst

Which of the following statement is false
AL Data dictionary 15 also known as svsiem catalog.
B} The information stored i data dictionary is called meta data,
Cr Data dictionary §s a centralized store of informiaticn about the database,
I Mata dictionary atores information contained in various tables of fhe database.

An HTML page, which of the (ollowing tag is generally not writlen in <head= tag

Al Ttle Ri Table ] Mectn [3) Seript

. Congider the following function in C;

Test{ inttl) |
itrtl =0} eeturn O]
glsg return £l += Testitl — 13;

H
When the ahave function is called with 8 non-zero positive value, it alwavs retums value of
A1 Byi-1 Crel*ii+112 V) Fera
Recursive descent parsing is an example of:
A) Top down parsing B) Bottom-up parsing
L Predictive parsing ) Mone of these

A elass in o+ canmot be
A} Virtual B} Generic 2} Inline D) Frieind

Which of the fillowing is most likely to be the time required (o retrieve a block from a hard
disk?
Al 100 milliseconds BY 180 millizceonds  C) | millisecond 7] 1M microseconds
TCP header does not contain the following ficlds: i,
A} Source and destmation address B Source and destination port
) Acknowledpement number D) Flags
Which aspect of security is at risk when unaulthurized people can read dula from your e-mail”?
&) Conlidentialicy B) Integrity
) Availablity [} Authentication

. What is spam g-mail®

A} Unsolicited commercial/non-commercial c-mail
B) A Usenet archive

) A computer virus in c-mail

I Hecking algocithm

. Assume the URL: hitps:wwrw poogle.comdlogin
Correct LKL is: ]
A hupdeesews, google. comdlagin E] EIE{]JHJ"-'.gUﬂgJE.G#EIm.'llhE,In
'y hitp/google com:login 1) Assumed URL 15 corredt

Ch)
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Following table indicates typical values of vasious stogage means for cumrently available
laptops.

_ Type | RAM |  HardDisk |
_ Capacity | X | S
Xoand ¥ can be respoctively,

A) 40GH, SOMH H 2MB, 30D Ch 2K, M00KD D) 2TB, s

CYou peeform banking operations online. Which of the following are application-level

encryption protocols that you would most likely use to securely bank onling?
A) 85L and 5ET B} Yerizign and SHA
CHREADY. 5ET, and GO ) PGP, PEM. and 551,

What is the meaning ol putting vour laptop using MS-Windows aperating system n hibemate
slate?

A) Stores open files & settings int RAM and goes o sleep made

B) Stores open files & seitings in RAM apd tum-oft the laptop

C} Stores open files & settings in Hared-disk and goes to sleep mode

D} Stores open files & sentings in Hard-disk and turn-off the laptop

W hich 1s not one of the three man calepories of cloud computing services?
Ay Infrastroclure-as-a-Secvice (Faas)
B} Platfvrmi-gs-a-Service (Pags)
O Communicalion-as-a-Sarvice (Caas}
N Soltware-as-a=-Service (Szal)
What does a lock 1= svmbol mean i the address bar of & web browser?
Al I shows that current URL is locked,
B} Ttmdicates that the identity of URL proved by some third party.
) It just a graphical symbol.
N It indicates that LR 15 a fake link.

Which of the following description is closest (0 open source sollwire?
AN It is software whiose source eode 1= aveilable Tor modileution’ enbiancement by anyone
free of cost,
B Itis software which can be fresly used by any number of users,
£ Nis seftware for which user has (o pay marey and then can share with anyhbady.
13} It s software which cannot be installed on computers.

Cookies were dezigned as a response to which problem in the original desizn of HIMI. and
HTTF?

A Persistence of slate between web-sessions

B Tnequality in infornation between clients and scrvers

C} The open and distributed nature of the [nternel

¥ Lack of privacy and contidentiality n wiewing web-pages

¥-x-x
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